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Rational Exponents Practice 7.1 and 7.2
NO CALCULATOR PART
For 1 – 6, evaluate each expression (no decimals).
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For 7-12, simplify each expression.  Answers should have only positive exponents.
2 each
	6.  (a5b-7)(a-4b9)
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13.  Rewrite 
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 using a rational exponent    
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Rational Exponents Practice 7.1 and 7.2
CALCULATOR PART
Simplify the following expressions completely.  No negative exponents.  No radicals in the denominator.  Assume all variables are positive.  If the problem is given with radical notation, use radical notation in your answer.  If the problem is given with exponent notation, use exponent notation in your answer.  
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10.  Evaluate 
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For 11-13, solve each equation.   Round your answers to the hundredths place.

2 each
	11.     x5 = 25


	12.     x4 + 11 = 28
	13.    (x + 4)3 = -33
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